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B.Sec. (Part-111) EXAMINATION, 2023 1 O 8 8 6 1

(FFaculty of Science)
[Also Common with subsidiary Paper of B.Sc. (Hons) Part-111]

(Three-Year Scheme of 10+2+3 pattern)
BOTANY-III
(Angiosperm Taxonomy and Embryology)
Time Allowed @ 3 Hours Maximum Marks : 34
v Afirran A : 34
No supplementary answer-book will be given to any candidate. Hence the candidate should write the answers
precively tn the main answer-book only.
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fered 1
Anawer of all the questions (short answer as well as descriptive) are to be given in the main answer-book only.

Anstoer of short answer type questions must be given in sequential order. Similarly all the parts of one question of

deseriptive part should be answered at one place in the answer book. One complete question should not be answered
at different places in the answer-book.
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Write your roll number on question paper before start writing answers of questions.
qoil @ I fereat 1@ el qu ~97 9 AT TR vy ford |
All questions are compulsory.
weit e et sifaard &)
PART -A / 9T - A

1. Write short answers, 10x1=10
@] 3w fefa)
(n) What is Botanical nomenclature ?

ArEfass ATERTOT o BT © 2

(b) Define Herbarium.

ey Hugrerd o gfenfoaa faefea

(¢) Write on fruits of fabaceae. 4B ‘3"}.‘1}:-90 Yy
J

el 7 fohd YR % %el 9T S @ 2

(d) What is Verticillaster inflorescence ?

(0) Define Cyathium inflorescence.
Hrufyay quisky &1 afenfaa Hifs )
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® ) Whatisreplum ?

T 1 B © ?
(g Define Embryo sac.
o 7 AR
(h) Whatistapetum and its function ? 1
THed FNE? THE B A | £
@) What is Embryo ? g
~ U7 T B 2 i
() Define Polyembryony ?
= YU <l GRUTa Hifer | |
PART-B / 49RT-A&
(Descriptive)
UNIT - I /313 -1
Describe the main outline, merits and demerits of the classification system proposed by Engler and 6
Prantle.
TIER 9 Y& & a0l sl S9L@l, 707 9 9 1 F0iF it |
OR / 3rgar
Write short notes on the following : d 3x2=6
frfafaa 9 dfera femfoat fafa 0
(a)  Taxonomic literature O
e e =
(b) Principle of Priority with example. —
wafHed 1 g e afed |
UNIT-1I / $eht3-11
3. Write short notes on the following : 3x2=6
fr=fafaa w Efara feooit fafay -
(a) Floral character of Lamiaceae
THITH Tt & gui Ao
(b) Floral character of Solanaceae
Hrerret T ¥ qui
OR / 3rqar
Write short notes on the following : 3x2=6
R Higrd feaof fafay .
(}/ _. Floral characters of POii/Cea_; ‘}\fo
© dIeE FE  quE adn —
‘}/ Important characters of Asclepiadaceae. g
TEATIAZH FHeA o GA A o0
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UNIT - 111/ BemTs - 111
i, Witte short notes on the following
Frteliaa v wiiee feaof) fefa

tu) o Hmrueture of Anthers,

GUIENSL T y=q

( Strueture of Pollen Geain, W
5o

QIR T (o)

OR {ﬁm

Wreite short notes on the following :
frtertima v i el ferfa,
()] Megasporogonesis,
IS ERIRE
(n Double fortilization with significance.

& e | gam veE

UNIT -1V /ZahTE - IV

B. Write a dotailed note on [Smbryo formation with suitable example.

e agrero § ot frmion o farga aofa wifsm)

OR / J3gar
-
Write short notes on the following : 0O
fretfafera at Hite feoft fafan . (5 o)
(u)/ Parthenocarpy :g
S1fies el o]
() Apomixis
ey
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3x2=6



